
1/2" X 3-1/2"
HEX BOLTS

TRANSPORT
SLEEVE

10" WHEEL

Use transport system as guide
for through hole location drilling.

SOCCER TRANSPORT WHEEL

INSTALLATION INSTRUCTIONS: 
 1. Slide the Transport Wheel Assembly sleeve onto bottom of net support 4" away from inside of
     Upright Post.
 2. Drill through holes on the bottom of net support pipe for through bolts to attach the transport 
     wheel. On the (4 Wheel) option the second wheel placement would be 4" inside of Back Crossbar 
     t-fittings.
 3. Secure Sleeve system with 1/2" x 3-1/2" Bolts on the net supports.
 4. Attach 10" Solid wheel to the Flange part of the Transport System with 5/8" x 4" Bolt , Flat washers 

and Nylok locknut (see page 2 for assembly sequence).

-04 -08 DESCRIPTION
4 8 U-Shaped Wheel Bracket
4 
4
4

12
8

 16
8

8 
8
8

24 
16

 32
16

10" x 2.5" Solid Rubber Wheel   
5/8" x  Heavy Hex Bolt
5/8" Nylok Nut
5/8" Washer
1/2" x 3-1/2" Hex Bolt
1/2" Washer
1/2" Nylock Nut

SPECIFICATION / INSTALLATION INSTRUCTIONS

MODEL NO.

Date:       2/13/17
Rev:    
Drawn:       MT 

Sheet:       1 of 2

SOCCER TRANSPORT SYSTEM

Model# 8341-04
 

Model# 8341-08

8 16 for 5/8" Shaft, 1" OD, 1/8"

SS81617

LA-8341-02, -04 or -08

-02
2
2
2
2
6
4
8
4
4

Model# 8341-02

rroberts
Line

rroberts
Line

rroberts
Line

rroberts
Line

rroberts
Line

rroberts
Line

rroberts
Line

rroberts
Line

rroberts
Line

rroberts
Line

rroberts
Line



 5" 

PLAN VIEW

SIDE VIEW

ISOMETRIC

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 U-Shaped Wheel Bracket 1

2 VCIWHEL10 10" x 2.5" SOLID RUBBER WHEEL 1

3 Spacer for 5/8" Shaft Diameter, 1" OD, 1/8" 2

4 HWHB584  5/8-11x 4" HEX HEAD BOLT 1

5 HWLN58 5/8-11 NYLOK INSERT LOCKNUT 1

6 HWFLWA58 5/8 FLAT WASHER ZINC 3

B C

4 2

S .375 A

D

BA

D

 5
9

16 " 

AA

DRAWN BY: BRYAN DYEA A

B B

4

4

3

3

2

2

1

1

REV. DATE:  6/23/2017

WHEEL ASSY

Page 2 OF 2SCALE: N/A WEIGHT: 13.87lbs

REVDWG.  NO.

B
SIZE

TITLE:

MATERIAL:

8341-04 or -08

UNLESS OTHERWISE SPECIFIED

A
IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

.5 1/8   BEND 

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL  1/32"
ANGULAR: MACH

THE INFORMATION CONTAINED IN THIS DRAWING IS 
THE SOLE PROPERTY OF PW ATHLETIC MFG. CO. ANY 
REPRODUCTION IN PART OR AS A WHOLE WITHOUT 
THE WRITTEN PERMISSION OF PW ATHLETIC MFG. CO 

ENG APPR:

A B

C

" 

16
11

 1 " 

" 8 3
5

 
3
4

 2" 

C

B

ENLARGED
DETAIL Z

1

2

6

1

4

5

4

1

6

2

A B

.0625

.0625

D

Z

Z

5

6

3

6

21
4

6

rroberts
Textbox

rroberts
Placed Image

rroberts
Textbox

rroberts
Oval

rroberts
Arrow

rroberts
Arrow

rroberts
Line

rroberts
Textbox


	Sheet1
	Drawing View1
	Drawing View3
	Drawing View4




